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m is an integer such that -2 < m ≤ 3 

Write down all the possible value of m.  

 

 

(2) 
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x is an integer, such that -5 ≤ x < 0 

List the possible value of x.  

 

 

(2) 

  



 

www.justmaths.co.uk   ©JustMaths 2013 

a) n is an integer. 

   -1 ≤ n < 4 

List the possible values of n.  

 

(2) 

 

b)  

 
Write down the inequality shown in the diagram.  

 

(2) 
  

n 
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a) On the number line, show the inequality -2 < y < 3 

 

 
 

(1) 

 

b) Here is an inequality, in x, shown on a number line 

 
Write down the inequality.  

 

 

(2) 
 




